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QUESTION 1

Your Web browser is currently open and displaying a popular sports site. You decide that you want to browse to the
CIW site without closing the browser. What is the most efficient way to accomplish this?

A. By performing a search on your computer for the term "CIW"

B. By performing a search within the site currently displayed in your Web browser

C. By typing in the FTP address (ftp.ClWcertified.com) in the address bar of your Web browser

D. By typing the CIW site\\'s URL (www.CIWcertified.com) in the address bar of your Web browser

Correct Answer: D

QUESTION 2

During the initial meeting to plan a new Web site, whose input must be obtained?
A. Shareholders

B. Stakeholders

C. Web developers

D. Graphic designers

Correct Answer: B

QUESTION 3

When a PC computer device wants to communicate with the processor, which system resource does it use?
A. /0

B. DMA

C.PIO

D. IRQ

Correct Answer: D

QUESTION 4

Matthew has embedded a video in his Web page using the HTML5 video format. The video is not rendering properly. He
asks Arlene to help determine the problem, so she reviews his code, which appears as follows:

Your browser does not support the HTML5 video element.
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What is wrong with this code?

A. The ogg video format is not supported by HTMLS5.

B. One of the video tag instances has not been properly closed.

C. The browser plug-in information required to view the video is missing.

D. The second instance of the element should be replaced with the element.

Correct Answer: D

QUESTION 5

You are modifying an existing Web page that needs to validate as HTML5 code. To create a rectangular hot-spot in an
image map that links to www.xyz.com, which code would you nest inside the container tags?

A.
B.
C.
D.

Correct Answer: C
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